@ AET S 2 T T PR A

Ningbo AiErTe Electronics Co;Ltd

Aluminum Profile Triangle Bracket
AET- 700

Installation Instructions

1/6



@ AF R T LA B

Ningbo AiErTe Electronics Co;Ltd

Stepl — Introduction of the balcony mounting system

1.1 Parts List

Telescopic rod x2

Fixed seat x4

Support columns x2

Fixed Frame x2

Round pipe hook x2

Stainless steel set x4

Stainless steel tie x4

Bolt Set M8*85 x2

Bolt Set M8*55 x4

Bolt Set M8*45 x8

Bolt Set M8*20 x8

Bolt Set M8*16 x4

2/6




@ AET S 2 T T PR A

Ningbo AiErTe Electronics Co;Ltd

1.2 Effect Drawing

L2 A R Y

Front View

Rear view

3/6



@ AT THRIES T T4 A w)

Ningbo AiErTe Electronics Co;Ltd

Side view

Rendering of bracket

4/6




@ AET S 2 T T PR A

Ningbo AiErTe Electronics Co;Ltd

Step 2- Installation the telescopic rod

2x M8%*16
2*bolt
2*nut

1x M8*20

1x M8*55
1*bolt
1*nut

1x M8*5
1*bolt
1*nut

Do the same steps for the other set of tripods.

5/6



@ AET S 2 T T PR A

Ningbo AiErTe Electronics Co;Ltd

Step 4- Installation the solar panel.

Make it easier to change to any angel of the solar panel.

Step 5- Torque of Bolts

Bolt Torque(N*m)

M8 8-10

6/6



